f,9 € LSC(X,Ry) peV(X). f,g,pu - 29 . p fg
() Ly

I(f+g,0) = sup{(fo+gn,p) : n €N}
= sup{I(fo, ) : n €N} +sup{I(gn,p): neN}
= I(f; )+ 1(g; ),

deO' 5.2 ](fm:u) I(anu“)
M Hn M

I(f+g,p) = sup{I(f+g,pn): neEN}
= sup{I(f, pn) : n € N} +sup{I(g,pn) : n €N}

= I(f,p) +1(g, 1),

O
53. (X,0,<) . (4)jes p G=0"

(i) U pU) < liminf; u;(U)

(i) f e CL(X) [ fdp <liminf; [ fdp,

(iti) g€ LSCL(X) . [ gdu < liminf; [ gdpu,

- () = () - () =) xo U S xvdp = p(U) (i) <= (i)
3.2 g € LSCL(X) fi: X - R, . (i) [ fidp < liminf; [ fidpy;.

fi<g iliminf; [ fidp; <liminf; [ gdu;

/gdu = /Sup fidp = sup/fidu < sup liminf/fiduj
i ) i J
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